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Attempt All questions.
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1. Fill in the blanks. Do any five of the foliowing :
T ot =t off Fifae) frefafea § § 918 ot St
' 5%2

(a) The truth function of conjunction is true when both
the conjuncts have
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373

(b) -

(©)

(d)

(e}

t)]

(g)

(2)
HANT Heg SR a4 | B ¥ St" 3R R

In wuth tables when there are all F's (False) in the
Column of confusion, the statement is ........... .

T uvit ° ) awarm % fred fies § 59
ff meE (F) & O @e... B ¥

When values of both sides of biconditional are equal
It iSuee. .

o T B A SR O P 8 A T

BT |

A stroke function is true when at least one of the
stroke constituent is........... .

T 1% T AR T AT 8 9 TF Qo T

‘P> q interm of ‘~’ and *.’ can be defined as...........

‘poq W~ AR H WY T TR ot
gftnfed e &1 mwar ¥

The........... sense of Disfunction is not used in truth
table or Decision procedures.

When the antecedent is true and consequent is false
the truth function of material implication is

mqﬁaﬁw@@h%ﬁmﬁla@mmm_
H A SR ... G



(a)

(b
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Use truth table method to determine whether
followings are tautologous, contingent or contradictory.
{Do any one)

o TR fafy g Fefefan & feifa it
s ¥ & SO TR W ST ¥ (PR T
Hifow) /

@ {p>(@>0n} > (pva)

@ (pg) > {g>(p>n) 6

If A, B are true and X, Y are faise then determine
the value of the following : (Do any one)

e A BT T 3R X Y 3 A Frafafes
% Yea faffa ST (F8 @@ Y

@ [(AX)>B]>[X > (B > X)
) [(X.Y) > Al o [X 2 (Y 2 A)] 4

Test the Validity/Invalidity of the following with shorter
truth table method : (Do any two)

Freafafean #t Sua/sevm # site oy o g ff

B I : (FE 7 Ffo) 25
@M p>q
porl/oqvr
) Hp>@>n).po>q]>p>r
(i) p>ogq
~plo. ~ g

. T. O.]
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(a)

(b)

(4)
Define the following in terms of */* Stroke. (Do any

one) 4
M ~pvgo>or

i ~ g vr

frefafea = @ = o v st ($8
TF HifIT)

M (~pvygor

() ~(pg) vr

Define the fo]]owi;lg into ‘~* and ‘v’ and ‘~’ and

7 (Do any one)

fretfafaa &1 < ol v g < ofw < F uftenfim
IS : (¥ TF Fifaw) 6
W “(pg o

M 9Q>n.p

Symbolize the following (Do any five).
frafefaa =1 vt # fofew) (9% oy sifm) s

(1)

(i)

The Khajuraho temples are beautiful and also a piece

of architectural marvel.

TR F A G ¥ SR e wen = aohe

T ot ¥

It is not the case that cultural values are evaporated

or we are a confused generation.

T T ¥ e aipfie gew wifmm @ o ¥
q W ww uim W ¥



(ii)

(iv)

(v)

(vi)

(vit)

(5) 373
We lose our lives if we do not accept the cond‘itions
of the terrorists.

T 3o fa<finl & €0 oft en andeanfedl
A T WEN

Unless you do Riyaaz regularly you will not be

proficient in Raaga.

T W M A HY T A o aF Frafia o
&

If Aditi goes to Chennai the if she buys Kanjeevaram

saree, she spends a lot of money.

o anfedt =g ot ® W@ AR 9w wetem W
Tiiedt ¢, 9% g YW ' W ¥

Neither Reshma nor Rehana went for movie.
Fd Tm T @ wE e @y )

Some flowers are beautiful but not fragrant.

TP HE TR ¥ WY g T

Construct a formal proof of validity of any one of the

following :

fefofes # & frdt o &) T womr =t g
HY 10

M

P:Q
PQ) o R
(Po>R)y> ~ 8§
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(i)

(6)
W o X
WoY)o2ZvX
WX)yoYy
~Z1 X

Symbolise the foilowing wsing propositional functions and

quantifiers. (Do any five)

ﬁmﬁ@a‘qﬂmuﬁaaﬂiqﬁm{ﬁﬁm

)

HC : (FF 7T FIQ) 5%2
All artists are emotional (Ax, Ex)
Wil FAFN IGF B T (Ax, Ex) -
(i) None but the braves are rewarded (Bx, (Rx,)
WW@W%%I (Bx, Rx)
(i) A few buildings are skycrappers. (Bx, Sx)
9 & A T gl (Bx, Sx)
(iv) Men rarely cry. (Mx, Cx)
o8 o & W Mx. O
(v) No Rabbits are dangerous. (Rx, Dx)
TR @ @M T T A (Rx, Dx)
(vi) Some books are not expensive. (Bx, Ex)
FH e w T AR (Bx, Ex)
(vii) Children are innocent. (Cx, Ix)

¥ AR W F(Cx, I
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Wn'fe short notes on the following : (Do either a or b)

Freafefaa w wfia femoh fafew @ (@ o X @ b 39

(a) Paradox of Material Implication.
T AN F 10
Or 39gan
(b) (@) Use of Symbols
TR = gE
(i) The Weaker and Stronger Sense of ‘either - or’.

‘aigar’ w1 fada AR mEe a4 545
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